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QUESTION 1

An external stored procedure is invoked using a CALL :hv (host variable). Which special register identifies the location
of the procedure?

A. CURRENT PATH

B. CURRENT SCHEMA

C. CURRENT PACKAGESET

D. CURRENT ROUTINE VERSION
Correct Answer: A

Reference: https://www.ibm.com/support/knowledgecenter/en/SSEPEK_11.0.0/sqlref/src/tpc/ db2z_sql_call.html

QUESTION 2

The PERIOD BUSINESS_TIME clause on a DDL statement is used in which of the following? (Choose two.)
A. A bitemporal table

B. A system-period temporal table

C. A created global temporary table

D. A declared global temporary table

E. An application-period temporal table

Correct Answer: AE

Reference: http://enterprisesystemsmedia.com/article/traveling-through-time-with-temporal-tables-in-db210-for-
luw/6#sr=gandm=oandcp=orandct=-tmcandst=(opu%20qspwjefe)andts=1563652020

QUESTION 3

If a scrollable cursor is INSENSITIVE, which of the following applies?

A. The cursor is read only

B. WITH ROWSET POSITIONING is not allowed

C. The select-statement must not contain an SQL data change statement

D. The cursor has sensitivity to changes that are made to the database after the result table is materialized
Correct Answer: A

Reference: https://www.ibm.com/support/knowledgecenter/en/SSEPEK_11.0.0/java/src/tpc/ imjcc_tjvsjscr.html

Latest C2090-320 Dumps | C2090-320 Study Guide | C2090-320 Exam Questions 2/3


https://www.geekcert.com/c2090-320.html
https://www.geekcert.com/c2090-320.html
https://www.geekcert.com/c2090-320.html

VCE & PDF https://lwww.geekcert.com/c2090-320.html
2024 Latest geekcert C2090-320 PDF and VCE dumps Download

GeekCert.com

QUESTION 4

Which statement is TRUE regarding catalog table SYSIBM.SYSROUTINES?
A. Contains scheduled tasks for the administrative scheduler

B. Contains information about UDFs, BIFs and stored procedures

C. Contains information about bound packages

D. Contains information about UDFs and stored procedures

Correct Answer: D

Reference: https://www.ibm.com/support/knowledgecenter/en/SSEPEK_10.0.0/cattab/src/tpc/
db2z_sysibmsysroutinestable.html

QUESTION 5

Which of the following statements concerning a bi-temporal table is TRUE?

A. It provides business history, but is not useful for audit purposes

B. It is defined with both an application period and a system period

C. Itis useful for audit purposes, but is not useful for business history

D. It contains data reflecting two different times ?current time and one previous time
Correct Answer: B

Reference: https://www.ibm.com/support/knowledgecenter/en/SSEPEK_11.0.0/intro/src/tpc/
db2z_creationoftableswithdataversioning.html
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